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6. Find the volume of sclid in the first octent bounded byz=x*+ y’ the'plane x +y =
1 and the coordinate planes.  (10%)

7. Find the dlrect:lnnal derivative of f{x,y2)= X'+ 2xyz - y2 at (1,1 2) ina duectmn i

parallel to the straight line "—2—‘ y-1= E'Tz (10%)

8.Let fix) = In(1+x) on (-1 e, and R.,,,,(x)— - j NO(x-0° dt, on(-1,1).
(2) Find £ (x). (5%)
®)Find  [imR. ). (10%)

=

YLet f{x)=xe*
(a}Find a power series representation of £ in powersof x. (5%

b)Find the sum . S .
® s f‘r;.‘n'f.(n+2}

(10%)



